Wod-kan

Wigczenie do istniejgcej
kanalizacji sanitarnej

Woda ciepta
Woda zimna
Cyrkulacja

Kanalizacja sanitarna

wpust podiogowy

34.Wy:

kownia

8,78 m2

100
200

M o™ M oM
2= 2= SN S
I::' I::D I I
Ll ]
=
=
o
—
o
=
=
=
(=]
=
(o)}
oo
~
—_ O
2| 32.Magazyn -
154 |8 ¢
g|r wodomierzy <
16,77 m2 n
(@]
—
@20x2,8 .
G32xad 14.Szatnia |
250x4,9] | 1 0 m2
T o0r H G
=5%_J H 240x4,5
I )b\_/ ] ol S =1
| N L N
90 %
33.Magazyn 200 31.Przefisjonet®
66,58 m2 9 7 4,32 mJ %
gl < 200
5" o
D508, S
; _@25x35 "._:“
\. 240x55 g
{ g
dzienka chiod S E
studzienka chtodzdca 9 M %
s s
s

R\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\s\\\\\\\\\\\\\\\\\\ﬁ
N




